
function [  ] = Encrypt(y,Fs)

%%%%%%% create crypt : vector to encrypt the data of the audio file
aa=clock;
d=size(y);
q=d(1);

dd=q+100;
vect=randperm(dd,q);

bb=q+955;
vect1=randperm(bb,q);

cc=q+3569;
vect2=randperm(cc,q);

v=vect';
v1=vect1';
v2=vect2';



for i=1:numel(v1)
    x1(i)=v1(i)*aa(6)+v11(i)*aa(5)+v22(i);
end
crypt=x1';
%%%%%%%now we change Y ( y=[y1,y2])
ya=y(:,1);
for i=1:numel(ya)
    y1(i)=ya(i)*crypt(i);
end
yb=y(:,2);
for i=1:numel(yb)
    y2(i)=yb(i)*pico1(i);
end
yr=[y1',y2'];
%%%%%%%now we change Fs
pos = randi(length(yr));
card = yr(pos);
Fs1=Fs+card;



while (10*10^4-Fs1<0) || (Fs1-9*10^4<0)
    pos = randi(length(yr));
    card = yr(pos);
    card=floor(card);
    Fs1=Fs+card;
end

o=strcat('*','1.121059','e','+','05');
o1=strcat('*','2.121059','e','+','05');
oo=strcat('*','9.997114','e','+','05');
j=strcat('*','3.121059','e','+','05');
j1=strcat('*','4.121059','e','+','05');

%%%%%%%create encryption msgs to help us with decryption 

fid = fopen('cryp.txt','wt');

fprintf( fid, '%d\n', crypt );
fprintf( fid, '%s\n', o );
fprintf( fid, '%d\n', pico1 );
fprintf( fid, '%s\n', o1 );
fprintf( fid, '%d\n', card );



fprintf( fid, '%s\n', oo );
fprintf( fid, '%d\n', y1');
fprintf( fid, '%s\n', j );
fprintf( fid, '%d\n', y2');
fprintf( fid, '%s\n', j1 );
fprintf( fid, '%d\n', Fs1);

fclose(fid);
end


